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Question Number : 1 Question Id : 146587351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Which district of Chhattisgarh has the highest iron ore deposits as on 2017?
Options :
1465871401.  Kanker
1465871402.  Balod
1465871403.  Bastar
1465871404.  Dantewada
   
Question Number : 1 Question Id : 146587351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
2017 की स्थिति के  अनुसार छत्तीसगढ़ के  किस जिले में लौह अयस्क का सर्वाधिक भंडार है?
Options :
1465871401.  कांके र
1465871402.  बालोद
1465871403.  बस्तर



1465871404.  दंतेवाड़ा
   
Question Number : 2 Question Id : 146587352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Indravati National Park, the Tiger Reserve in Chhattisgarh, is located in which of the following districts?
Options :
1465871405.  Bastar district
1465871406.  Dantewada district
1465871407.  Bijapur district
1465871408.  Sukma district
   
Question Number : 2 Question Id : 146587352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
छत्तीसगढ़ का टाइगर रिजर्व इंद्रावती राष्ट्री य उद्यान निम्नलिखित में से किस जिले में स्थित है?
Options :
1465871405.  बस्तर जिला
1465871406.  दंतेवाड़ा जिला
1465871407.  बीजापुर जिला
1465871408.  सुकमा जिला
   
Question Number : 3 Question Id : 146587353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
During the second phase of the Civil Disobedience Movement, Mahatma Gandhi arrived second time in Chhattisgarh in:
Options :
1465871409.  1929
1465871410.  1931
1465871411.  1933
1465871412.  1935



   
Question Number : 3 Question Id : 146587353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
सविनय अवज्ञा आंदोलन के  दू सरे  चरण में महात्मा गांधी छत्तीसगढ़ में दू सरी बार _______ में पहुँचे थे।
Options :
1465871409.  1929
1465871410.  1931
1465871411.  1933
1465871412.  1935
   
Question Number : 4 Question Id : 146587354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
The Ratanpur temple in Chhattisgarh was built by the _______.
Options :
1465871413.  Maratha Rulers
1465871414.  Kalchuri Rulers
1465871415.  Mughal Rulers
1465871416.  Tughlaq Rulers
   
Question Number : 4 Question Id : 146587354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
छत्तीसगढ़ में रतनपुर मंदिर _______ द्वारा बनवाया गया था।
Options :
1465871413.  मराठा शासक
1465871414.  कलचुरी शासक
1465871415.  मुगल शासक
1465871416.  तुगलक शासक
   



Question Number : 5 Question Id : 146587355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
From 1741 to 1845 AD, Chhattisgarh was under the rule of:
Options :
1465871417.  The British
1465871418.  The Chola Dynasty
1465871419.  The Rajputs
1465871420.  The Marathas
   
Question Number : 5 Question Id : 146587355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
1741 से 1845 ईस्वी तक छत्तीसगढ़ में ________ का शासन था।
Options :
1465871417.  अंग्रेजों
1465871418.  चोल वंश
1465871419.  राजपूतों
1465871420.  मराठों
   
Question Number : 6 Question Id : 146587356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Which of the following festivals of Chhattisgarh is celebrated annually during the season of Ganesh Chaturthi?
Options :
1465871421.  Bhagoria Festival
1465871422.  Chakradhar Festival
1465871423.  Kajari Festival
1465871424.  Rajim Lochan Mahotsav
   
Question Number : 6 Question Id : 146587356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0
गणेश चतुर्थी के  सीज़न दौरान छत्तीसगढ़ के  निम्नलिखित त्यौहारों में से कौन सा त्यौहार हर साल मनाया जाता है?
Options :
1465871421.  भगोरिया महोत्सव
1465871422.  चक्रधर महोत्सव
1465871423.  कजरी महोत्सव
1465871424.  राजिम लोचन महोत्सव
   
Question Number : 7 Question Id : 146587357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Which is the most populous tribe of Chhattisgarh?
Options :
1465871425.  Gond
1465871426.  Halba
1465871427.  Kawar
1465871428.  Bhattra
   
Question Number : 7 Question Id : 146587357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
छत्तीसगढ़ की सर्वाधिक जनसंख्या वाली जनजाति कौन है?
Options :
1465871425.  गोंड
1465871426.  हल्बा
1465871427.  कवार
1465871428.  भाट्रा
   
Question Number : 8 Question Id : 146587358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0



Name the folk-dance form of Chhattisgarh in which the women dancers perform by tying a musical instrument called Manjira all over their body.
The same is played by the performers throughout the dance ritual.
Options :
1465871429.  Gammatiha dance
1465871430.  Panthi dance
1465871431.  Teratali dance
1465871432.  Kare dance
   
Question Number : 8 Question Id : 146587358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
छत्तीसगढ़ के  लोक-नृत्य रूप का नाम बताइए जिसमें महिला नर्तक अपने पूरे  शरीर पर मंजीरा नामक वाद्य यंत्र बांधकर नृत्य करती हैं। वही पूरे  नृत्य अनुष्ठान में
कलाकारों द्वारा बजाया जाता है।
Options :
1465871429.  गैमतिहा नृत्य
1465871430.  पंथी नृत्य
1465871431.  तेराताली नृत्य
1465871432.  कारे  नृत्य
   
Question Number : 9 Question Id : 146587359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
With which form of Chhattisgarh folk music was the noted musician Khuman Sav associated?
Options :
1465871433.  Dewar Songs
1465871434.  Dhankul
1465871435.  Chandaini Gonda
1465871436.  Bhojali
   
Question Number : 9 Question Id : 146587359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0



छत्तीसगढ़ लोक संगीत की किस विधा से प्रसिद्ध संगीतकार खुमान साव जुड़े थे?
Options :
1465871433.  देवर गीत
1465871434.  ढांकु ल
1465871435.  चंदैनी गोंदा
1465871436.  भोजली
   
Question Number : 10 Question Id : 146587360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
With which form of dance is the classical dancer Dr. Chandan Singh associated?
Options :
1465871437.  Bharatnatyam
1465871438.  Kathakali
1465871439.  Odissi
1465871440.  Kathak
   
Question Number : 10 Question Id : 146587360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
शास्त्रीय नर्तक डॉ. चंदन सिंह किस नृत्य से संबंधित हैं?
Options :
1465871437.  भरतनाट्यम
1465871438.  कथकली
1465871439.  ओडिसी
1465871440.  कथक
   
Question Number : 11 Question Id : 146587361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
In the Chhattisgarh Assembly, how many seats are reserved for the Schedules Caste?



Options :
1465871441.  5
1465871442.  10
1465871443.  12
1465871444.  16
   
Question Number : 11 Question Id : 146587361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
छत्तीसगढ़ विधानसभा में, अनुसूचित जाति के  लिए कितनी सीटें आरक्षित हैं?
Options :
1465871441.  5
1465871442.  10
1465871443.  12
1465871444.  16
   
Question Number : 12 Question Id : 146587362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Who is the head of the land revenue collection in a district?
Options :
1465871445.  District Collector
1465871446.  Block Development Officer
1465871447.  Gram Panchayat
1465871448.  Tehsildar
   
Question Number : 12 Question Id : 146587362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
किसी एक जिले में भू-राजस्व संग्रह का प्रमुख कौन होता है?
Options :
1465871445.  जिला कलेक्टर



1465871446.  ब्लॉक डेवलपमेंट ऑफिसर
1465871447.  ग्राम पंचायत
1465871448.  तहसीलदार
   
Question Number : 13 Question Id : 146587363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Under the provisions of the Panchayats (Extension to Scheduled Areas) Act, the Chhattisgarh state Legislature shall ensure that the Panchayats at
appropriate level & Gram Sabha have ownership of ________.
Options :
1465871449.  farm lands
1465871450.  minor forest produce
1465871451.  village markets
1465871452.  village livestock
   
Question Number : 13 Question Id : 146587363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
पंचायत (अनुसूचित क्षेत्रों में विस्तार) अधिनियम के  प्रावधानों के  तहत, छत्तीसगढ़ राज्य विधानमंडल यह सुनिश्चित करेगा कि उचित स्तर पर पंचायतों और ग्राम
सभा के  पास ________ का स्वामित्व है।
Options :
1465871449.  कृ षि भूमि
1465871450.  लघु वनोपज
1465871451.  गाँव के  बाजार
1465871452.  गाँव का पशुधन
   
Question Number : 14 Question Id : 146587364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
The Chhattisgarh Panchayat (Regulation of relations between Panchayats and Panchayat and Other Local authorities) Rules, 1994, under section
_____ provide for the settlement of disputes between Panchayats and other local authorities.
Options :



1465871453.  86
1465871454.  90
1465871455.  98
1465871456.  113
   
Question Number : 14 Question Id : 146587364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
पंचायतों और अन्य स्थानीय प्राधिकरणों के  बीच विवादों के  निपटारे  के  लिए छत्तीसगढ़ पंचायत (पंचायतों और पंचायत और अन्य स्थानीय प्राधिकरणों के  बीच
संबंधों का विनियमन) नियम, 1994 धारा _____ के  तहत प्रावधान किया गया है।
Options :
1465871453.  86
1465871454.  90
1465871455.  98
1465871456.  113
   
Question Number : 15 Question Id : 146587365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Chhattisgarh ranked _______ in terms of value mineral in production in 2017-18 as per the Ministry of Mines data.
Options :
1465871457.  first
1465871458.  second
1465871459.  third
1465871460.  fourth
   
Question Number : 15 Question Id : 146587365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
खान मंत्रालय के  आंकड़ों के  अनुसार 2017-18 में उत्पादन में खनिज मूल्य के  मामले में छत्तीसगढ़ _____ स्थान पर है।
Options :
1465871457.  प्रथम



1465871458.  द्वितीय
1465871459.  तृतीय
1465871460.  चतुर्थ
   
Question Number : 16 Question Id : 146587366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
The Chhattisgarh state has a notified special economic zone (SEZ) in which district?
Options :
1465871461.  Korba
1465871462.  Sukma
1465871463.  Bastar
1465871464.  Rajnandgaon
   
Question Number : 16 Question Id : 146587366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
छत्तीसगढ़ राज्य में _______ जिला विशेष आर्थिक क्षेत्र (special economic zone (SEZ)) अधिसूचित है।
Options :
1465871461.  कोरबा
1465871462.  सुकमा
1465871463.  बस्तर
1465871464.  राजनांदगांव
   
Question Number : 17 Question Id : 146587367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Which among the following is the "First Greenfield Smart City of India"?
Options :
1465871465.  Bilaspur
1465871466.  Ambikapur



1465871467.  Naya Raipur
1465871468.  Bhilai
   
Question Number : 17 Question Id : 146587367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
निम्नलिखित में से कौन सा शहर "फर्स्ट ग्रीनफील्ड स्मार्ट सिटी ऑफ़ इंडिया" है?
Options :
1465871465.  बिलासपुर
1465871466.  अंबिकापुर
1465871467.  नया रायपुर
1465871468.  भिलाई
   
Question Number : 18 Question Id : 146587368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Which soil order fills most of Chhattisgarh's cultivated area?
Options :
1465871469.  Entisols
1465871470.  Inceptisols 
1465871471.  Alfisols
1465871472.  Vertisols
   
Question Number : 18 Question Id : 146587368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
छत्तीसगढ़ के  सर्वाधिक कृ षि व्याप्त क्षेत्र में कौन से प्रकार की मृदा पायी जाती है?
Options :
1465871469.  एन्टीसॉल्स (Entisols)
1465871470.  इन्सेप्टिसॉल्स (Inceptisols) 
1465871471.  अल्फीसॉल्स (Alfisols)



1465871472.  वर्टिसॉल्स (Vertisols)
   
Question Number : 19 Question Id : 146587369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Paralkot rebellion, one the major tribal rebellion of Chhattisgarh took place in which of the following years? 
Options :
1465871473.  1920
1465871474.  1825
1465871475.  1928
1465871476.  1830
   
Question Number : 19 Question Id : 146587369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
परलकोट विद्रोह, जो कि प्रमुख आदिवासी विद्रोहों में से एक है, निम्नलिखित में से किस वर्ष के  दौरान हुआ था?
Options :
1465871473.  1920
1465871474.  1825
1465871475.  1928
1465871476.  1830
   
Question Number : 20 Question Id : 146587370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Which among the following was NOT a cause of the rise of national movement in Chhattisgarh?
Options :
1465871477.  Exploitation of local peasants
1465871478.  Occurrence of landslides in this region
1465871479.  Occurrence of severe famine in this region
1465871480.  Conversion of Christian missionaries
   



Question Number : 20 Question Id : 146587370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
निम्नलिखित में से क्या छत्तीसगढ़ में राष्ट्री य आंदोलन के  उदय का कारण नहीं  था?
Options :
1465871477.  स्थानीय किसानों का शोषण
1465871478.  इस क्षेत्र में भूस्खलन की घटना
1465871479.  इस क्षेत्र में भयंकर अकाल की घटना
1465871480.  ईसाई मिशनरियों का धर्म परिवर्तन
   
Question Number : 21 Question Id : 146587371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Who is the writer of the Chhattisgarhi song ‘Surta Ke Chandan’?
Options :
1465871481.  Hari Thakur
1465871482.  Sunderlal Sharma
1465871483.  Narayan Parmar
1465871484.  Laxmi Shankar
   
Question Number : 21 Question Id : 146587371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
छत्तीसगढ़ी गीत ‘सुरता के  चंदन’ के  लेखक कौन हैं?
Options :
1465871481.  हरि ठाकु र
1465871482.  सुन्दरलाल शर्मा
1465871483.  नारायन परमार
1465871484.  लक्ष्मीशंकर
   
Question Number : 22 Question Id : 146587372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Which tribe of Chattisgarh celebrates the festival "Meghnad"?
Options :
1465871485.  Bhunjia
1465871486.  Baiga
1465871487.  Halba
1465871488.  Gond
   
Question Number : 22 Question Id : 146587372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
छत्तीसगढ़ की कौन सी जनजाति 'मेघनाद' त्यौहार मनाती है?
Options :
1465871485.  भुंजिया
1465871486.  बैगा
1465871487.  हल्बा
1465871488.  गोंड
   
Question Number : 23 Question Id : 146587373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
In which of the following districts does the Barnawapara sanctuary is located in Chhattisgarh?
Options :
1465871489.  Bastar
1465871490.  Durg
1465871491.  Baloda Bazar
1465871492.  Dantewada
   
Question Number : 23 Question Id : 146587373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0



छत्तीसगढ़ के  निम्नलिखित में से किस जिले में बारनवापारा वन्यजीव अभयारण्य (Barnawapara sanctuary) स्थित है?
Options :
1465871489.  बस्तर
1465871490.  दुर्ग
1465871491.  बलौदा बाज़ार
1465871492.  दंतेवाड़ा
   
Question Number : 24 Question Id : 146587374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Which is the head quarter of Kabirdham district?
Options :
1465871493.  Balod
1465871494.  Kawardha
1465871495.  Bijapur
1465871496.  Gariaband
   
Question Number : 24 Question Id : 146587374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
कबीरधाम जिले का मुख्यालय कहां है?
Options :
1465871493.  बालोद
1465871494.  कवर्धा
1465871495.  बीजापुर
1465871496.  गरियाबंद
   
Question Number : 25 Question Id : 146587375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
What is the total number of seats won by Bharatiya Janata Party in 2018 assembly elections of Chhattisgarh?



Options :
1465871497.  11
1465871498.  13
1465871499.  15
1465871500.  19
   
Question Number : 25 Question Id : 146587375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
छत्तीसगढ़ के  2018 के  विधानसभा चुनावों में भारतीय जनता पार्टी ने कु ल कितनी सीटें जीती थी?
Options :
1465871497.  11
1465871498.  13
1465871499.  15
1465871500.  19
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Question Shuffling Allowed : Yes
   
Question Number : 26 Question Id : 146587376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0
Which of the following input devices is specially used for checking the answer sheets of examinations having multiple choice questions?
Options :
1465871501.  OCR device
1465871502.  OMR device
1465871503.  Barcode reader
1465871504.  Digitiser
   
Question Number : 26 Question Id : 146587376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
निम्नलिखित में से किस इनपुट डिवाइस का उपयोग विशेष रूप से बहुविकल्पीय प्रश्न वाली परीक्षाओं की उत्तर पुस्तिकाओं की जाँच हेतु किया जाता है?
Options :
1465871501.  OCR डिवाइस
1465871502.  OMR डिवाइस
1465871503.  बारकोड रीडर
1465871504.  डिजिटाइज़र
   
Question Number : 27 Question Id : 146587377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Which of the following keys is used to type capital letters using the keyboard?
Options :
1465871505.  Tab
1465871506.  Enter
1465871507.  Caps lock
1465871508.  Ctrl
   
Question Number : 27 Question Id : 146587377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
कीबोर्ड का उपयोग करते हुए निम्नलिखित में से किस कुं जी (की) का उपयोग बड़े (कै पिटल) अक्षरों को लिखने के  लिए किया जाता है?



Options :
1465871505.  Tab
1465871506.  Enter
1465871507.  Caps lock
1465871508.  Ctrl
   
Question Number : 28 Question Id : 146587378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are TRUE?

(i) Monitors are the main output device of a computer.
(ii) Output displayed on monitors is called the 'hard copy' of the output data.
Options :
1465871509.  Only (i)
1465871510.  Only (ii)
1465871511.  Both (i) and (ii)
1465871512.  Neither (i) nor (ii)
   
Question Number : 28 Question Id : 146587378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
निम्नलिखित में से कौन सा/से कथन सत्य है/हैं?

(i) मॉनिटर कं प्यूटर के  मुख्य आउटपुट डिवाइस होते हैं।
(ii) मॉनिटर पर प्रदर्शित आउटपुट को आउटपुट डेटा की 'हार्ड कॉपी' कहा जाता है।
Options :
1465871509.  के वल (i)
1465871510.  के वल (ii)
1465871511.  (i) और (ii) दोनों
1465871512.  न तो (i) और ना ही (ii)
   



Question Number : 29 Question Id : 146587379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Which of the following statements is FALSE?
Options :
1465871513.  The motherboard is the main circuit board connecting all components of a computer system.
1465871514.  The motherboard is a hardware unit.
1465871515.  The motherboard is also called a microprocessor.
1465871516.  The memory, CPU, and other hardware units are connected together through the motherboard.
   
Question Number : 29 Question Id : 146587379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
निम्नलिखित में से कौन सा कथन असत्य है?
Options :
1465871513.  मदरबोर्ड कं प्यूटर सिस्टम के  सभी घटकों को जोड़ने वाला मुख्य सर्कि ट बोर्ड है।
1465871514.  मदरबोर्ड एक हार्डवेयर इकाई/यूनिट है।
1465871515.  मदरबोर्ड को माइक्रोप्रोसेसर भी कहा जाता है।
1465871516.  मेमोरी, CPU और अन्य हार्डवेयर इकाइयाँ (यूनिट्स) मदरबोर्ड के  माध्यम से एक-दू सरे  से जुड़ी होती हैं।
   
Question Number : 30 Question Id : 146587380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
An ALU uses which of the following to store operands or intermediate results while performing arithmetic and logic operations?
Options :
1465871517.  Program counter
1465871518.  Stack pointer
1465871519.  Data register
1465871520.  Address register
   
Question Number : 30 Question Id : 146587380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0
अरिथमेटिक और लॉजिक ऑपरेशन करते समय ALU ऑपरेंड या मध्यवर्ती परिणामों को संग्रहीत करने के  लिए निम्नलिखित में से किसका उपयोग करता है?
Options :
1465871517.  प्रोग्राम काउंटर
1465871518.  स्टैक पॉइंटर
1465871519.  डाटा रजिस्टर
1465871520.  ऐड्रे स रजिस्टर
   
Question Number : 31 Question Id : 146587381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Which of the following options best describes the truthfulness of the below statements?

(i) SDRAM is a static random access memory.
(ii) SRAM is more expensive than DRAM.
Options :
1465871521.  (i) - TRUE; (ii) - TRUE
1465871522.  (i) - TRUE; (ii) - FALSE
1465871523.  (i) - FALSE; (ii) - TRUE
1465871524.  (i) - FALSE; (ii) - FALSE
   
Question Number : 31 Question Id : 146587381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
दिए गए विकल्पों में से कौन सा विकल्प निम्नलिखित कथनों की सत्यता का सर्वोत्तम वर्णन करता है?

(i) SDRAM एक स्टैटिक रैंडम एक्सेस मेमोरी है।
(ii) DRAM की तुलना में SRAM अधिक महंगा होता है।
Options :
1465871521.  (i) - सत्य; (ii) - सत्य
1465871522.  (i) - सत्य; (ii) - असत्य
1465871523.  (i) - असत्य; (ii) - सत्य



1465871524.  (i) - असत्य; (ii) - असत्य
   
Question Number : 32 Question Id : 146587382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
In Microsoft Word, which of the following keyboard shortcuts is used to remove a paragraph indent from the left?
Options :
1465871525.  Ctrl + Shift + M
1465871526.  Ctrl + R
1465871527.  Ctrl + Shift + T
1465871528.  Ctrl + I
   
Question Number : 32 Question Id : 146587382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Microsoft Word में, निम्नलिखित में से किस कीबोर्ड शॉर्टकट का उपयोग बाईं ओर से पैराग्राफ इंडेंट को हटाने के  लिए किया जाता है?
Options :
1465871525.  Ctrl + Shift + M
1465871526.  Ctrl + R
1465871527.  Ctrl + T
1465871528.  Ctrl + I
   
Question Number : 33 Question Id : 146587383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
In Microsoft Word 2013, which of the following menu group is NOT present within the 'References' tab?
Options :
1465871529.  Captions
1465871530.  Index
1465871531.  Footnote
1465871532.  Views
   



Question Number : 33 Question Id : 146587383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Microsoft Word 2013 में, निम्नलिखित में से कौन सा मेनू ग्रुप 'रेफ़रेंसेस (References)' टैब में मौजूद नहीं  है?
Options :
1465871529.  कै प्शन्स (Captions)
1465871530.  इंडेक्स (Index)
1465871531.  फू टनोट (Footnote)
1465871532.  व्यूस (Views)
   
Question Number : 34 Question Id : 146587384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
What will be the output of the following formula in Microsoft Excel if the values in cells are as follows?

A2=FALSE, A3=100, A4=1, A5=101=MINA(A2:A5)
Options :
1465871533.  0
1465871534.  100
1465871535.  50.5
1465871536.  101
   
Question Number : 34 Question Id : 146587384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Microsoft Excel में नीचे दिए गए सूत्र का आउटपुट क्या होगा यदि सेल में मान इस प्रकार हैं?

A2=FALSE, A3=100, A4=1, A5=101=MINA(A2:A5)
Options :
1465871533.  0
1465871534.  100
1465871535.  50.5



1465871536.  101
   
Question Number : 35 Question Id : 146587385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
In Microsoft PowerPoint 2013, which of the following options is NOT present in the 'Setup' menu group within the 'Slide Show' tab?
Options :
1465871537.  Setup Slide Show
1465871538.  Hide Slide
1465871539.  Rehearse Timing
1465871540.  Present Online
   
Question Number : 35 Question Id : 146587385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Microsoft PowerPoint 2013 में, निम्नलिखित में से कौन सा विकल्प 'स्लाइड शो (Slide Show)' टैब के  भीतर 'सेटअप (Setup)' मेनू ग्रुप में मौजूद नहीं  है?
Options :
1465871537.  सेटअप स्लाइड शो (Setup Slide Show)
1465871538.  हाइड स्लाइड (Hide Slide)
1465871539.  रिहर्स टाइमिंग (Rehearse Timing)
1465871540.  प्रेजेंट ऑनलाइन (Present Online)
   
Question Number : 36 Question Id : 146587386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Fill in the blanks with an appropriate option that will complete the steps to copy and paste a table from Microsoft Word to a Microsoft
PowerPoint 2013 slide.

a) In Microsoft Word, click the table that you want to copy -> Go to the 'Layout' tab > Select ____________.
b) Under the 'Home' tab, go to the 'Clipboard' group and select  __________.
c) In your PowerPoint presentation, select the slide that you want to copy the table to -> On the _______ in the 'Clipboard' group, click 'Paste'.
Options :
1465871541.  a) Table; b) Copy; c) Home tab



1465871542.  a) Table; b) Home tab; c) Copy
1465871543.  a) Copy; b) Table; c) Home tab
1465871544.  a) Home tab, b) Copy; c) Table
   
Question Number : 36 Question Id : 146587386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
उस उपयुक्त विकल्प के  साथ रिक्त स्थान को भरें , जो Microsoft Word के  टेबल को कॉपी करने और उसे Microsoft PowerPoint 2013 स्लाइड में पेस्ट करने
के  चरणों को पूरा करेगा।

a) Microsoft Word में, उस टेबल पर क्लिक करें  जिसे आप कॉपी करना चाहते हैं -> 'लेआउट (Layout)' टैब पर जाएं  > ________ चुनें।
b) 'होम (Home)' टैब के  अंदर, 'क्लिपबोर्ड ' समूह पर जाएं  और ________ चुनें।
C) अपनी PowerPoint Presentation में, उस स्लाइड का चयन करें  जिसके  लिए आप टेबल कॉपी करना चाहते हैं -> 'क्लिपबोर्ड (Clipboard)' समूह में
_______ पर जाकर 'पेस्ट (Paste)' पर क्लिक करें।
Options :
1465871541.  a) टेबल (Table), b) कॉपी (Copy), c) होम टैब (Home tab)
1465871542.  a) टेबल (Table), b) होम टैब (Home tab), c) कॉपी (Copy)
1465871543.  a) कॉपी (Copy), b) टेबल (Table), c) होम टैब (Home tab)
1465871544.  a) होम टैब (Home tab), b) कॉपी (Copy), c) टेबल (Table)
   
Question Number : 37 Question Id : 146587387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Which of the following software was developed by Apple?
Options :
1465871545.  iOS
1465871546.  Microsoft Word
1465871547.  Tally
1465871548.  Microsoft PowerPoint
   
Question Number : 37 Question Id : 146587387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0
निम्नलिखित में से किस सॉफ्टवेयर को Apple द्वारा बनाया गया है?
Options :
1465871545.  iOS
1465871546.  Microsoft Word
1465871547.  Tally
1465871548.  Microsoft PowerPoint
   
Question Number : 38 Question Id : 146587388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
State whether the following statements are TRUE or FALSE.

a) iOS was developed by IBM.
b) Windows 10 is a multitasking operating system.
c) PowerPoint 2013 is not a part of the Microsoft Office suite.
Options :
1465871549.  a) – False; b) – True; c) – False
1465871550.  a) – False; b) – False; c) – False
1465871551.  a) – False; b) – True; c) – True
1465871552.  a) – True; b) – False; c) – False
   
Question Number : 38 Question Id : 146587388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
स्पष्ट करें  कि निम्नलिखित कथन सत्य हैं या असत्य।

a) iOS को IBM द्वारा बनाया गया था।
b) विंडोज 10 एक मल्टीटास्किं ग ऑपरे टिंग सिस्टम है।
c) PowerPoint 2013, Microsoft Office सुइट का भाग नहीं  है।
Options :
1465871549.  a) – असत्य; b) – सत्य; c) – असत्य
1465871550.  a) – असत्य; b) – असत्य; c) – असत्य



1465871551.  a) – असत्य; b) – सत्य; c) – सत्य
1465871552.  a) – सत्य; b) – असत्य; c) – असत्य
   
Question Number : 39 Question Id : 146587389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Options :
1465871553.  a – iv; b – iii; c – i; d – ii
1465871554.  a – iii; b – i; c – ii; d – iv
1465871555.  a – i; b – iii; c – iv; d – ii
1465871556.  a – iv; b – ii; c – i; d - iii
   
Question Number : 39 Question Id : 146587389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0



Options :
1465871553.  a – iv; b – iii; c – i; d – ii
1465871554.  a – iii; b – i; c – ii; d – iv
1465871555.  a – i; b – iii; c – iv; d – ii
1465871556.  a – iv; b – ii; c – i; d - iii
   
Question Number : 40 Question Id : 146587390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Which of the following languages is NOT compatible with .NET framework?
Options :
1465871557.  C#
1465871558.  F#
1465871559.  C
1465871560.  VB.NET
   
Question Number : 40 Question Id : 146587390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
निम्नलिखित में से कौन सी भाषा .NET फ्रे मवर्क  के  अनुकू लित नहीं  है?
Options :



1465871557.  C#
1465871558.  F#
1465871559.  C
1465871560.  VB.NET
   
Question Number : 41 Question Id : 146587391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Options :
1465871561.  a – ii; b – i; c – iv; d – iii
1465871562.  a – i; b – ii; c – iv; d – iii
1465871563.  a – ii; b – iii; c – iv; d – i
1465871564.  a – ii; b – i; c – iii; d – iv
   
Question Number : 41 Question Id : 146587391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0



Options :
1465871561.  a – ii; b – i; c – iv; d – iii
1465871562.  a – i; b – ii; c – iv; d – iii
1465871563.  a – ii; b – iii; c – iv; d – i
1465871564.  a – ii; b – i; c – iii; d – iv
   
Question Number : 42 Question Id : 146587392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
______ is a statically typed, purely functional programming language with type inference and lazy evaluation.
Options :
1465871565.  Haskell
1465871566.  F#
1465871567.  PHP
1465871568.  VB.NET
   
Question Number : 42 Question Id : 146587392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
______ एक सांख्यिकीय रूप से टाइप की गई विशुद्ध रूप से कार्यात्मक प्रोग्रामिंग भाषा है, जिसमें टाइप इन्फरन्स और मंदित मूल्यांकन हैं।
Options :



1465871565.  Haskell
1465871566.  F#
1465871567.  PHP
1465871568.  VB.NET
   
Question Number : 43 Question Id : 146587393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
What is Firebird?
Options :
1465871569.  An open-source SQL relational database management system
1465871570.  An operating system software
1465871571.  An application software
1465871572.  A scripting language
   
Question Number : 43 Question Id : 146587393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
फायरबर्ड (firebird) क्या है?
Options :
1465871569.  एक ओपन सोर्स SQL रिलेशनल डेटाबेस मैनेजमेंट सिस्टम
1465871570.  ऑपरे टिंग सिस्टम सॉफ्टवेयर
1465871571.  एप्लीके शन सॉफ्टवेयर
1465871572.  स्क्रिप्टिंग भाषा
   
Question Number : 44 Question Id : 146587394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0



Options :
1465871573.  a – ii; b – i; c – iv; d – iii
1465871574.  a – i; b – ii; c – iv; d – iii
1465871575.  a – ii; b – iii; c – iv; d – i
1465871576.  a – ii; b – iv; c – i; d – iii
   
Question Number : 44 Question Id : 146587394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Options :
1465871573.  a – ii; b – i; c – iv; d – iii



1465871574.  a – i; b – ii; c – iv; d – iii
1465871575.  a – ii; b – iii; c – iv; d – i
1465871576.  a – ii; b – iv; c – i; d – iii
   
Question Number : 45 Question Id : 146587395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
With reference to internet protocols, the acronym SMTP stands for:
Options :
1465871577.  Simple Mail Transfer Protocol 
1465871578.  Simple Mail Transmission Protocol 
1465871579.  Server Mail Transfer Protocol 
1465871580.  Simple Mode Transfer Protocol 
   
Question Number : 45 Question Id : 146587395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
इंटरनेट प्रोटोकॉल के  संदर्भ में, SMTP के  संक्षिप्त नाम का पूर्ण रूप क्या है?
Options :
1465871577.  सिंपल मेल ट्रां सफर प्रोटोकॉल (Simple Mail Transfer Protocol) 
1465871578.  सिंपल मेल ट्रां समिशन प्रोटोकॉल (Simple Mail Transmission Protocol) 
1465871579.  सर्वर मेल ट्रां सफर प्रोटोकॉल (Server Mail Transfer Protocol) 
1465871580.  सिंपल मॉड ट्रां सफर प्रोटोकॉल (Simple Mode Transfer Protocol) 
   
Question Number : 46 Question Id : 146587396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
What is the name of the layout engine developed by the Mozilla Project?
Options :
1465871581.  Gecko
1465871582.  Trident



1465871583.  Webkit
1465871584.  Presto
   
Question Number : 46 Question Id : 146587396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Mozilla प्रोजेक्ट द्वारा बनाए गए लेआउट इंजन का नाम क्या है?
Options :
1465871581.  गेक्को (Gecko)
1465871582.  ट्रा इडेंट (Trident)
1465871583.  वेबकिट (Webkit)
1465871584.  प्रेस्टो (Presto)
   
Question Number : 47 Question Id : 146587397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
What is the sequence of three major components of URL?
Options :

1465871585.  

1465871586.  

1465871587.  

1465871588.  

   
Question Number : 47 Question Id : 146587397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
URL के  तीन प्रमुख घटकों का क्रम क्या है?



Options :

1465871585.  

1465871586.  

1465871587.  

1465871588.  

   
Question Number : 48 Question Id : 146587398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
At which layer does a TCP protocol work?
Options :
1465871589.  Transport
1465871590.  Data link
1465871591.  Network
1465871592.  Application
   
Question Number : 48 Question Id : 146587398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
TCP प्रोटोकॉल किस लेयर पर काम करता है?
Options :
1465871589.  ट्रां सपोर्ट
1465871590.  डेटा लिंक
1465871591.  नेटवर्क
1465871592.  एप्लिके शन
   



Question Number : 49 Question Id : 146587399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Which protocol is foundation for WWW?
Options :
1465871593.  HTTP
1465871594.  FTP
1465871595.  SMTP
1465871596.  ICMP
   
Question Number : 49 Question Id : 146587399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
WWW के  लिए कौन सा प्रोटोकॉल आधार है?
Options :
1465871593.  HTTP
1465871594.  FTP
1465871595.  SMTP
1465871596.  ICMP
   
Question Number : 50 Question Id : 146587400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
_________ protocol is connectionless whereas _______ protocol is connection-oriented.
Options :
1465871597.  UDP; TCP
1465871598.  TCP; UDP
1465871599.  TCP; HTTP
1465871600.  UDP; IP
   
Question Number : 50 Question Id : 146587400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0
________ प्रोटोकॉल कनेक्शन रहित है जबकि _________ प्रोटोकॉल कनेक्शन-उन्मुख है।
Options :
1465871597.  UDP; TCP
1465871598.  TCP; UDP
1465871599.  TCP; HTTP
1465871600.  UDP; IP


